[ 201495 o438 Az}
(550, Q2 G #H)

s R
O WY ANEFCEH Hx)

w ZJEA4  APFA TEANC R SA’ AL
w BEAL  1RAL o9 o] dAe] A4k

AT A F B A) A=A 4

2. 0143 % MYAE 24 FARE
O MY eit
. AR SO
T B 3 A H 3

= A 10,000

» BHO| 7| XA 10,000
w BEAA o) - A

T = Mgoflar | MM | 5

5 A 363,115| 361,620 -1,495
=93 200,000 | 200,000 0
» g 595 200,000 | 200,000 0
AGTAAY 70,000 64,475 -5,525
» TEM| 22CJAMY 20,000 2,065| -17,935
© B « AHEHOHES f@ﬂ 5,000 8,404 3,404
o | IHZOIAET| &Y 45,000 50,466 5,466
. St 18d 0 3,540 3,540
oy 62,031 65,259 3,228
» ‘13 2FH| ThoH 0 1,970 1,970
» 13 Ao Z 62,031 63,289 1,258
7|Eb=Sd 0 802 802
» O 20| X} 0 572 572
» ZEASH 2UREE 0 230 230
HEa 31,084| 31,084 0




Q Al=d4t

= 712 o
T & 2 oA H 2
g A 10,000
> el e 10,000
" BRI
T = Mzt | NEEY
E A 363,115 361,620
ATME 29 262,031 265,906
» AT Sz 200,000 200,000
» 1314 2QIH| RhoH 0 1,970
» 131 ZAEHYUS 62,031 63,289
» O 20|k} 0 417
» 7|E} 0 230
AL AY 20,000 24,688
» A 2=QAMY 6,925 113
v AFDHIOFE M T} 500 7,490
> HIZRA| N
scoper | ZOIAE 7|2 &Y 12,575 16,779
» ST EY 0 306
olgd= 50,000 39,942
» ‘1414 TlSHXEOH 0 3,726
» 1540 Z 20N K 2ok 50,000 36,216
HEs 31,084 31,084




AEKS DB RRE SRlRbE Bl 2 k2l B fobERE h IBlklE Sk BVI0C
2l TREE I VL. B2l R BEke T (&
0 0 ¥80'T¢€ 0 ¥80'1€ ¥80'T¢€ =iy
91Z'9¢ 91Z'9¢ . v8L'€T- 91Z'9¢€ 000'0S lRix Blvlo<xiz KNST
161 9 G8. 60C- 161 000'T (10-sov)IR=leiviy Sov
0Z€vT ¢ LTEYT T 0ZEYT 61T £2lYyE £0-L0€
¥00'c 0S¢ vSL'T ¥ST ¥00'€ 0SL'c ERA/E 90-L0¢
vee'L1 €62 TLO0'LT 6Se- pee'Ll 690'L1 kloiZio  LO€
620'S - 620'S 621 620'S 006y ERAE{ZIZIbE 70-v0€
¥3T'L 301 9/1'9 31 v8T'/ 000’2 Eia= T0-¥0€
€121 80V G08'TT €1¢ €1’ 006'TT SEaach  V0E
0 - - 000'T- - 000'T IRt Ry 20-202 B2
0 - 3 000G~ = 000'S R8Tl T0-L0C
0 i . 000'9- = 000'9 InRlctw  £02
1743 - vZ6 109°0T- v26 GZS'TT IR=Hy 90z
9¢/ [1¢ 616 9~ 9¢/ 008 IRiyvrooRS& ¥0-€0¢C iy
90S'T - 90S'T 90¢ 90S'T 00¢'T IRIy=>& BR3¢ T0-£0C
et L1 620'C e W't 000'Z lRixy== R €0C
0.T'T - 0LZ'T 0.1 0L2'T # lrlols= 20-20¢
6y’ T T c6b'7T 90t~ v6v'CT 006'CT IRtolh= T0-20¢
v9L'ET T €9L'€T 98 ¥9L'€1 006'CT Irko 20z
95%'0¢ 596 T6v'61 058'9- 95¥'0C 909'€T RS &% 20-10¢
L0€'6E 59/ {vs'se ¥88'8T L0€'6E €ey'oe 21y 10-10C
£€91'65 0€L'T ££0'8S yEL'ST €9/'65 620"V IFRSiAle  10C
66C'L8T TIT'T 881'981 1691 66C'L8T 809'S8T (z0-T0T)IAFZ16 10T
0Z9'19¢ ZV6'6€ wB.Hmm S6b'T- 029'19¢ STT'E9€E k & £ I
_F.ﬂ.n.w _r_w._IK. :O =.w_uu.n .*HNW.WI — = _3 e} .W
NE El wE Rl oty =

Rtk Bl vkEK ZEHRVIC O




